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QUESTION 1

A customer has twenty LUNs to manage in a TrueCopy Extended Distance configuration. Which product would be used
to manage the pool?

A. Storage Navigator

B. Storage Navigator Modular

C. Command Control Interface (CCI)

D. Disk Array Management Program (DAMP)

Correct Answer: B

QUESTION 2

Your customer must decide if TrueCopy Asynchronous or TrueCopy Synchronous is the best solution. Which three
statements describe TrueCopy Synchronous characteristics? (Choose three.)

A. TrueCopy Synchronous guarantees an RPO of zero.

B. TrueCopy Synchronous turnaround times become unacceptable at longer distances.

C. TrueCopy Synchronous maintains consistency of data with time stamping and sequence numbering.

D. TrueCopy Synchronous can register a maximum of sixteen remote control units (CUs) for one local CU.

E. TrueCopy Synchronous reports the ending status to the host only after the S-VOL update copy operation is
complete.

Correct Answer:. ABE

QUESTION 3

You are working on a Business Continuity plan for a customer. The customer states, "This business process is
important for us but we can afford one hour data loss and two hours are tolerable to recover." Which two statements
correctly refilect the business process requirements? (Choose two.)

A. The business recovery time objective is one hour.

B. The business recovery time objective is two hours.

C. The business process recovery point objective is one hour.

D. The business process recovery point objective is two hours.

Correct Answer: BC
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QUESTION 4

A customer is using Shadowlmage to replicate an online database on a UNIX server. The Shadowlmage pairs are
suspended and the secondary volumes are presented to a recovery server. What are two steps that must be performed
prior to starting the database on the recovery server? (Choose two.)

A. Import the volume/disk group.

B. Perform a fsck on each file system.

C. Roll the replicated database logs forward.

D. Change the IP address of the recovery server.

Correct Answer: AB

QUESTION 5

A customer uses Shadowlmage At-Time Split to create a copy of an online Oracle database so that it can be mounted
and started on another server for testing purposes. What will the database do on the recovery server when it starts to
ensure that the transactions are restored to a point in time?

A. Roll forward the redo logs.

B. Perform a database dump.

C. Transition into hot backup mode.

D. Create copies of the archive logs.

Correct Answer: A
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